
Ввод Вывод

equation("0;0", "1;1") 1.0 0.0

Ввод Вывод

equation("0;0", "0;4") 0.0

Ввод Вывод

equation("4;6.9", "-5.2;6.9") 6.9

y=kx+b

A(x1;y1)
B(x2;y2)
(x-x1)/(x2-x1)=(y-y1)/(y2-y1)
(x-x1)(y2-y1)/(x2-x1)=(y-y1)
y1+(x-x1)(y2-y1)/(x2-x1)=y
y1+(x(y2-y1)-x1(y2-y1))/(x2-x1)=y
y1+x(y2-y1)/(x2-x1) - x1(y2-y1)/(x2-x1)=y
x(y2-y1)/(x2-x1) + y1 - x1(y2-y1)/(x2-x1)=y
k=(y2-y1)/(x2-x1)
b=y1 - x1(y2-y1)/(x2-x1)

def equation(a, b):
   s1 = a.split(';')
   s2 = b.split(';')
   x1 = float(s1[0])
   x2 = float(s2[0])
   y1 = float(s1[1])
   y2 = float(s2[1])
   if x1 != x2:
       k = (y2 - y1) / (x2 - x1)
       b = y1 - x1*(y2 - y1) / (x2 - x1)
       if k != 0:
           print(k, b)
       else:
           print(b)
   else:
       print(x1)


